RotopaX Mount Installation

“LUE:KYB

Proud Rhino OFF ROAD EQUIPMENT



NOTE!
If you have a roof rack installed you will need
to lift the rear foot to slide in the track mount.

/’ o

Drop roof track mount in place.



Remove rear ditch finisher.




Mark the ditch finisher as shown and
aa drill a 34” hole in both locations.

©

—— 174 mm —— 4=




Mount the Rotopax twist mount to the sport bracket
with the hardware supplied in the Rotopax box




The Rotopax mount should look like this mounted to
the front of the support bracket




Reinstall the ditch finisher and confirm your holes line up.




Loosely install the top two bolts into the track mount.




Install the black in spacers in to the
%" holes as shown in sliver.




Put thread sealer on the two m10 bolts.




Align the mounting bracket and the holes in the ditch
finisher. Install the two m10 bolts and washers as shown.




Tighten everything down, mount the RotopaX and your
finished product should look like this.




	RotopaX Mount Installation
	      NOTE!�If you have a roof rack installed you will need�to lift the rear foot to slide in the track mount.
	Remove rear ditch finisher.
	Slide Number 4
	Mount the Rotopax twist mount to the sport bracket  with the hardware supplied in the Rotopax box
	The Rotopax mount should look like this mounted to  the front of the support bracket
	Slide Number 7
	Loosely install the top two bolts into the track mount.
	Slide Number 9
	Put thread sealer on the two m10 bolts.
	Align the mounting bracket and the holes in the ditch  finisher. Install the two m10 bolts and washers as shown.
	Slide Number 12

